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V. EVIRERR

(1) RZRK

(ERRSO0FE)

( /mL)
BE B 47 0 0 0 0 0 0 0 0 0 0 2
Merismopedia spp. 2
Others
= o b 508 96 82 20 48 164 164 52 62 610 838
Achnanthes spp. 94 8 6 4 2
Amphora  spp. 2 2 2 2 16 60
Asterionella spp. 34 14 20 2 26 24
Aulacoseria spp. 4 2 6 4
Cocconeis spp. 10 4 6 2 2 4 40 8
Cyclotella spp. 74 8 4 6 16 28
Cymbella spp. 52 12 4 4 4 20 6 2 8 122 170
Diatoma spp. 16 4 110 20
Diploneis spp. 2
Epithemia spp. 2
Fragilaria spp. 18 4 2 6 2
Gomphonema  spp. 44 2 4 6 2 2 30 28
Gyrosigma spp. 2
Melosira  spp. 2 8 2 34 8 18 12
Navicula spp. 86 4 38 4 16 42 74 28 8 130 264
Nitzschia acicularis 6
Nitzschia spp. 60 34 2 2 6 4 12 2 32 34
Pinnularia spp. 8 2 2 22 66 16 10 48 148
Rhoicosphenia spp. 4 6 8 12 28
Skeletonema potamos 4
Stephanodiscus spp.
Synedra acus 2 2 2
Synedra ulna 6 4
Synedra spp. 2 2 10
Tabellaria spp. 2
% E %5 8 4 26 0 18 6 10 2 0 2 26
Actinastrum spp.
Ankistrodesmus spp. 2 8 4 2 4
Carteria spp.
Chlamydomonas  spp. 2 4 2
Closterium spp. 2
Coelastrum spp. 2
Cosmarium spp. 4 2
Gloeocystis spp. 8
Mougeotia spp. 2 6
Oocystis spp. 18
Pandorina spp.
Pediastrum spp.
Scenedesmus  spp. 4 4 6
Sphaerocystis spp. 2
Tetraspora spp. 2 4 2
Others 2 2 2
97T EE 0 4 0 2 4 0 2 0 0 0 14
cryptomonas  spp. 4 2 4 2 14
a-JLr B8 0 0 0 0 0 0 0 0 0 0 2
| Trache lomonas spp. 2
B O E 4E 0 0 2 0 2 0 0 0 0 0 0
Ceratium spp. 2
Peridinium spp. 2
BUNELY 0 0 0 2 0 0 0 0 0 0 0
FLuglena spp. 2
Others
i E =2}
N 5 =2}
Lic) T L=z}
& Y| s 516 104 110 24 12 170 176 54 62 612 882
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(2) KRILBEK

(ERRSO0FE)

(

/mL)

E B B

Achnanthes  spp.

Amphora spp.

Asterionella spp.

Aulacoseria spp.

Cocconeis spp.

Cyclotella spp.

Cymbella spp.

Diatoma spp.

Gomphonema  spp.

Navicula spp.

Nitzschia acicularis

Nitzschia spp.

Synedra spp.

& & %

Ankistrodesmus spp.

Chlamydomonas spp.

Coccomyxa Spp.

Coelastrum spp.

Oocystis spp.

Pediastrum spp.

Scenedesmus spp.

Selenastrum spp.

Sphaerocystis spp.

Others_

M B Y

R

BEL

m_ ' 8

Ceratium spp.

Perz'dz'nz'ug Spp.

22
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